Provisional Result (College wise)

Two-Year Bachelor of Education (B.Ed) 1st Semester Supplementary-II Examination, 2017 (Held in December-2018)

College Code - (01005) - FALAKATA B.ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	SGPA	Signature of the Candidate
1	010052-17020	17-01005-019	2017-2018	SABINA GURUNG	DISQUALIFIED		

Controller of Examinations

^{***} RW='Result Withheld',RA='Reported Against',INC='Incomplete'
Qualifying marks for each Course/Half (Internal/External assessment) is 40% and pass marks for each Course/Half is 50%.;

Provisional Result (College wise)

Two-Year Bachelor of Education (B.Ed) 2nd Semester Supplementary-I Examination, 2018 (Held in December-2018)

College Code - (01005) - FALAKATA B.ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	SGPA	Signature of the Candidate
1	010052-17031	17-01005-006	2017-2018	DHRUBAJYOTI ROY	SEMESTER PASSED	8.25	

^{***} RW='Result Withheld',RA='Reported Against',INC='Incomplete'
Qualifying marks for each Course/Half (Internal/External assessment) is 40% and pass marks for each Course/Half is 50%.;

Provisional Result (College wise) Two-Year Bachelor of Education (B.Ed) 3rd Semester Examination, 2018

College Code - (01005) -

FALAKATA B.ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	SGPA	Signature of the Candidate
1	010052-17001	17-01005-035	2017-2018	DEBASHREE MANDAL	SEMESTER PASSED	8.85	
2	010052-17002	17-01005-029	2017-2018	DEVASHREE CHAKRABORTY	SEMESTER PASSED	8.80	
3	010052-17003	17-01005-037	2017-2018	INDRA CHETTRI LIMBOO	SEMESTER PASSED	7.75	
4	010052-17004	17-01005-030	2017-2018	JOYASHREE BHOWMIK	SEMESTER PASSED	7.90	
5	010052-17005	17-01005-032	2017-2018	MAMPI BARMAN	SEMESTER PASSED	8.70	
6	010052-17006	17-01005-038	2017-2018	MONICA LEPCHA	SEMESTER PASSED	7.85	
7	010052-17007	17-01005-036	2017-2018	SANJUKTA KAMKAR	SEMESTER PASSED	8.90	
8	010052-17009	17-01005-001	2017-2018	OISHEE CHAKRABORTY	SEMESTER PASSED	8.90	
9	010052-17010	17-01005-002	2017-2018	SABNAM BISWAKARMA	SEMESTER PASSED	8.90	
10	010052-17011	17-01005-003	2017-2018	SUMITRA BARMAN	SEMESTER PASSED	7.85	
11	010052-17012	17-01005-007	2017-2018	SREEPARNA NANDI	SEMESTER PASSED	8.90	
12	010052-17013	17-01005-008	2017-2018	LABONI NARJINARY	SEMESTER PASSED	8.70	
13	010052-17014	17-01005-011	2017-2018	POPY BISWAS	SEMESTER PASSED	8.75	
14	010052-17015	17-01005-013	2017-2018	ANAMIKA ROY PRODHAN	SEMESTER PASSED	8.60	
15	010052-17016	17-01005-014	2017-2018	POULAMI ROY	SEMESTER PASSED	8.75	
16	010052-17017	17-01005-015	2017-2018	SUPTI GOSWAMI	SEMESTER PASSED	8.95	
17	010052-17018	17-01005-016	2017-2018	APURBA SINGHA	SEMESTER PASSED	8.90	
18	010052-17019	17-01005-017	2017-2018	SUDIPTA KUNDU	SEMESTER PASSED	8.85	
19	010052-17020	17-01005-019	2017-2018	SABINA GURUNG	SUPPLEMENTARY IN 1.3.7B(TH)		
20	010052-17021	17-01005-022	2017-2018	MANASHI ROY	SEMESTER PASSED	8.75	
21	010052-17023	17-01005-027	2017-2018	KM NEETU DWIVEDI	SEMESTER PASSED	8.60	
22	010052-17024	17-01005-028	2017-2018	SMRITIKANA DAS	SEMESTER PASSED	8.20	
23	010052-17025	17-01005-034	2017-2018	AMIT CHETTRI	SEMESTER PASSED	8.70	The state of the s

^{***} RW='Result Withheld',RA='Reported Against',INC='Incomplete'

Qualifying marks for each Course/Half (Internal/External assessment) is 40% and pass marks for each Course/Half is 50%.;

Controller of Examinations

Date: 08/03/2019

Page 2 of 2

THE WEST BENGAL UNIVERSITY OF TEACHERS' TRAINING, EDUCATION PLANNING AND ADMINISTRATION

Provisional Result (College wise) Two-Year Bachelor of Education (B.Ed) 3rd Semester Examination, 2018

College Code - (01005) -

FALAKATA B.ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	SGPA	Signature of the Candidate
24	010052-17026	17-01005-033	2017-2018	ANIK DAS	SEMESTER PASSED	8.85	
25	010052-17027	17-01005-031	2017-2018	NARAYAN BOSE	SEMESTER PASSED	8.75	
26	010052-17029	17-01005-004	2017-2018	SANJAY PAUL	SEMESTER PASSED	8.90	
27	010052-17030	17-01005-005	2017-2018	SURAJIT BARMAN	SEMESTER PASSED	8.85	
28	010052-17031	17-01005-006	2017-2018	DHRUBAJYOTI ROY	SEMESTER PASSED	8.90	
29	010052-17032	17-01005-009	2017-2018	JOYKANTA BARMAN	SEMESTER PASSED	7.95	
30	010052-17033	17-01005-010	2017-2018	BIPUL BARMAN	SUPPLEMENTARY IN 1.3.7B(TH)		
31	010052-17034	17-01005-012	2017-2018	ANGSHUMAN ROY	SEMESTER PASSED	8.90	
32	010052-17036	17-01005-020	2017-2018	BAPI ROY	SEMESTER PASSED	8.75	
33	010052-17037	17-01005-021	2017-2018	SUBRATA ADHIKARY	SEMESTER PASSED	8.75	
34	010052-17038	17-01005-023	2017-2018	BAPPI SARKAR	SEMESTER PASSED	8.85	
35	010052-17039	17-01005-024	2017-2018	SANKAR BISWAS	SEMESTER PASSED	8.75	
36	010052-17040	17-01005-025	2017-2018	PALASH DEY	SEMESTER PASSED	8.90	

Controller of Examinations

^{***} RW='Result Withheld',RA='Reported Against',INC='Incomplete' Qualifying marks for each Course/Half (Internal/External assessment) is 40% and pass marks for each Course/Half is 50%.;

Provisional Result (College wise) Two-Year Bachelor of Education (B.Ed) 1st Semester Examination, 2017 FALAKATA B ED COLLEGE

College Code - (01005) -

		-			
1	Pagistration No.	Session	Name of Candidate	Result	SGPA
	THE OWNER AND		DEBASHREE MANDAL	SEMESTER PASSED	7.40
010052-1700		-		SEMESTER PASSED	7.85
010052-17002		-		SEMESTER PASSED	6.90
010052-17003		-		SEMESTER PASSED	7.30
010052-17004			MAMPIBARMAN (After hevised)	SUPPLEMENTARY IN 1.1.1(1ST HALF) SEM PASSED	7.25
010052-17005	THE RESERVE AND ADDRESS OF THE PERSON NAMED IN		TO THE POLICE	RW SEMESTER PASSED	7.10
010052-17006				SEMESTER PASSED	7.85
010052-17007	17-01005-036	2017-2018		NOT APPEARED	
010052-17008				SEMESTER PASSED	7.80
010052-17009	17-01005-001				7.80
010052-17010	17-01005-002	2017-2018			7.50
010052-17011	17-01005-003	2017-2018			7.75
	17-01005-007	2017-2018			7.55
	17-01005-008	2017-2018	LABONI NARJINARY		
		2017-2018	POPY BISWAS	SUPPLEMENTARY IN 1.1.2(2ND HALF)	
		2017-2018	ANAMIKA ROY PRODHAN		7.90
					8.00
					8.00
				SEMESTER PASSED	8.15
0052-17019	17-04005-017				7.45
0052-17020	17-01005-019				
0052-17021	17-01005-022	2017-2018	MANASHI ROY		6.95
0052-17022	17-01005-026	2017-2018	EKTA GURUNG		0.33
0052-17023	17-01005-027	2017-2018	KM NEETU DWIVEDI	SEMESTER PASSED	
	010052-17002 010052-17003 010052-17004 010052-17005 010052-17006 010052-17008 010052-17009 010052-17010 010052-17011 010052-17012 010052-17013 10052-17014 10052-17015 10052-17016 10052-17017 10052-17018 10052-17019 10052-17020 10052-17021 10052-17020	010052-17001 17-01005-035 010052-17002 17-01005-029 010052-17003 17-01005-037 010052-17004 17-01005-030 010052-17006 17-01005-032 010052-17006 17-01005-036 010052-17007 17-01005-036 010052-17009 17-01005-001 010052-17010 17-01005-002 010052-17011 17-01005-003 010052-17011 17-01005-003 010052-17012 17-01005-007 010052-17013 17-01005-011 10052-17014 17-01005-011 10052-17015 17-01005-013 10052-17016 17-01005-014 10052-17017 17-01005-015 00052-17018 17-01005-016 00052-17020 17-01005-019 00052-17021 17-01005-019 00052-17021 17-01005-019	No. Number Registration No.	Registration No. Session DEBASHREE MANDAL 17-01005-035 2017-2018 DEVASHREE CHAKRABORTY 17-01005-029 2017-2018 DEVASHREE CHAKRABORTY 17-01005-037 2017-2018 INDRA CHETTRI LIMBOO 10052-17004 17-01005-030 2017-2018 JOYASHREE BHOWMIK 17-01005-032 2017-2018 MAMPI BARMAN (A LAC LEPCHA 2010052-17006 17-01005-032 2017-2018 MAMPI BARMAN (A LAC LEPCHA 2010052-17006 17-01005-036 2017-2018 SANJUKTA KAMKAR SUSHILA AGARWAL 2010052-17009 17-01005-001 2017-2018 SABNAM BISWAKARMA 2010052-17009 17-01005-002 2017-2018 SABNAM BISWAKARMA 2010052-17010 17-01005-002 2017-2018 SABNAM BISWAKARMA 2010052-17011 17-01005-003 2017-2018 SREEPARNA NANDI 2010052-17012 17-01005-007 2017-2018 LABONI NARJINARY 2010052-17014 17-01005-011 2017-2018 ANAMIKA ROY PRODHAN 201052-17016 17-01005-014 2017-2018 SUPTI GOSWAMI 2015-217016 17-01005-016 2017-2018 SUPTI GOSWAMI 20052-17019 17-04005-017 2017-2018 SUPTI GOSWAMI 20052-17019 17-04005-017 2017-2018 SUDIPTA KUNDU 20052-17019 17-04005-019 2017-2018 SABINA GURUNG 20052-17021 17-01005-022 2017-2018 KKTA GURUNG 20052-17022 17-01005-026 2017-2018 EKTA GURUNG 20052-17022 17-01005-026 2017-2018 EKTA GURUNG 20052-17002 2017-2018 EKTA GURUNG 20052-17002 2017-2018 2017-2018 EKTA GURUNG 20052-17002 2017-2018 2017-2018 EKTA GURUNG 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018 2017-2018	Redi Number Registration No. Session DEBASHREE MANDAL SEMESTER PASSED D10052-17001 17-01005-032 2017-2018 DEVASHREE CHAKRABORTY SEMESTER PASSED D10052-17002 17-01005-032 2017-2018 INDRA CHETTRI LIMBOO SEMESTER PASSED SEMESTER PASSED D10052-17004 17-01005-032 2017-2018 JOYASHREE BHOWMIK SEMESTER PASSED D10052-17005 17-01005-032 2017-2018 MAMPI BARMAN (A LACCLEVIAL) SUPPLEMENTARY IN 1.1.(IST HALF) SEMESTER PASSED D10052-17006 17-01005-032 2017-2018 MAMPI BARMAN (A LACCLEVIAL) SEMESTER PASSED D10052-17007 17-01005-036 2017-2018 SANJUKTA KAMKAR SEMESTER PASSED SEMESTER PASSED D10052-17008 D10052-17009 17-01005-001 2017-2018 SABNAM BISWAKARMA SEMESTER PASSED D10052-17001 17-01005-002 2017-2018 SABNAM BISWAKARMA SEMESTER PASSED D10052-17010 17-01005-002 2017-2018 SABNAM BISWAKARMA SEMESTER PASSED D10052-17011 17-01005-003 2017-2018 SREEPARNA NANDI SEMESTER PASSED D10052-17012 17-01005-004 2017-2018 SREEPARNA NANDI SEMESTER PASSED D10052-17014 17-01005-001 2017-2018 LABONI NARJINARY SEMESTER PASSED D10052-17014 17-01005-011 2017-2018 POPY BISWAS SUPPLEMENTARY IN 1.1.2(2ND HALF) D10052-17016 17-01005-015 2017-2018 ANAMIKA ROY PRODHAN SEMESTER PASSED D10052-17016 17-01005-016 2017-2018 SUDIPTA KUNDU SEMESTER PASSED D10052-17010 17-01005-016 2017-2018 SUDIPTA KUNDU SEMESTER PASSED D10052-17010 17-01005-017 2017-2018 SUDIPTA KUNDU SEMESTER PASSED D10052-17010 17-01005-016 2017-2018 SABINA GURUNG FAILED D10052-17002 17-01005-022 2017-2018 SABINA GURUNG FAILED D10052-17002 17-01005-026 2017-2018 EKTA GURUNG FAILED D10052-17002 17-01005-026 2017-2018 EKTA GURUNG SEMESTER PASSED D1005

^{*} RW='Result Withheld RA='Renorted Against INC='Incompleted

	e Code - (010	. sestion No.	Session	Name of Candidate			
000	Roll Nulliber	24005 028	2017-2018	SMRITIKANA DAS (After Review)	Result SUPPLEMENTARY IN	SGPA	-
+	010052-17024	17-01005-028 17-01005-034	2017-2018	AMIT CHETTRI	SUPPLEMENTARY IN 1.1.1(1ST HALF) SEM PASSED	6.95	T
t	010052-17025	17-01005-001	2017-2018	ANIK DAS	SEMESTER PASSED	7.60	T
-	010052-17026	- 1205 021	2017-2018	NARAYAN BOSE	SEMESTER PASSED	7.85	I
1	010052-17027			RAJNEESH SHARMA	NOT APPEARED	7.40	
	010052-17028		2017-2018	SANJAY PAUL	SEMESTER PASSED		1
	010052-17029	205	2017-2018	SURAJIT BARMAN	SEMESTER PASSED	7.50	100
	010052-17030 010052-17031		2017-2018	DHRUBAJYOTI ROY	SEMESTER PASSED	7.60	-
	010052-17031		2017-2018	JOYKANTA BARMAN	SEMESTER PASSED	8.30	450
1	010052-17033		2017-2018	BIPUL BARMAN	SEMESTER PASSED	7.25	Sec.
1	010052-17034		2017-2018	ANGSHUMAN ROY	SEMESTER PASSED	7.50	To All
1	010052-17035		2017-2018	PUSHKAR LAMA YONZON	FAILED	0.10	
İ	010052-17036	17-01005-020	2017-2018	BAPI ROY	SEMESTER PASSED	7.85	5
1	010052-17037	7 17-01005-021	2017-2018	SUBRATA ADHIKARY	SEMESTER PASSED	7.65	Tona.
	010052-17038	8 17-01005-023	2017-2018	BAPPI SARKAR	SEMESTER PASSED	7.5	Sala la
	010052-1703	9 17-01005-024	2017-2018	SANKAR BISWAS	SEMESTER PASSED	7.8	
	010052-1704	0 17-01005-025	2017-2018	PALASH DEY	SEMESTER PASSED	81	E

Provisional Result (College wise)

Two-Year Bachelor of Education (B.Ed) 1st Semester Supplementary-I Examination, 2017 (Held in May-2 College Code - (01005) - FALAKATA B ED COLLEGE

Roll Number	Registration No.	Session	Name of Candidate	Result	SGPA	
010052-17014	17-01005-011	2017-2018	POPY BISWAS	SEMESTER PASSED	7.70	H
010052-17015	17-01005-013	2017-2018	ANAMIKA ROY PRODHAN	SEMESTER PASSED		H
010052-17020	17-01005-019					+
-	010052-17014 010052-17015	010052-17014 17-01005-011 010052-17015 17-01005-013	010052-17014 17-01005-011 2017-2018 010052-17015 17-01005-013 2017-2018	010052-17014 17-01005-011 2017-2018 POPY BISWAS 010052-17015 17-01005-013 2017-2018 ANAMIKA ROY PRODHAN	010052-17014 17-01005-011 2017-2018 POPY BISWAS SEMESTER PASSED 010052-17015 17-01005-013 2017-2018 ANAMIKA ROY PRODHAN SEMESTER PASSED	010052-17014 17-01005-011 2017-2018 POPY BISWAS SEMESTER PASSED 7.70 010052-17015 17-01005-013 2017-2018 ANAMIKA ROY PRODHAN SEMESTER PASSED 7.25

Two-Year Bachelor of Education (B.Ed) 2nd Semester Examination, 2018 FALAKATA B ED COLLEGE

Sri-No	Roll Number	Registration No.	Session	Name of Candidate	DE DECEMBER DE	
1	010052-17001	17-01005-035	2017-2018		Result	SGPA
2	010052-17002			DEBASHREE MANDAL	SUPPLEMENTARY IN 1.2.EPC2(TH)	
3	010052-17003		2017-2018	DEVASHREE CHAKRABORTY	SEMESTER PASSED	7.75
4	010052-17004	Control of the Contro	2017-2018	INDRA CHETTRI LIMBOO	SUPPLEMENTARY IN 1.2.EPC2(TH)	7.75
5		THE RESERVE OF THE PARTY OF THE	2017-2018	JOYASHREE BHOWMIK	SEMESTER PASSED	7.20
	010052-17005	NO. WAS ARROWNED THE THE THE TANK THE T	2017-2018	MAMPI BARMAN	SUPPLEMENTARY IN 1.2.EPC2(TH)	1.20
6	010052-17006	The state of the s	2017-2018	MONICA LEPCHA	SEMESTER PASSED	7.15
7	010052-17007	17-01005-036	2017-2018	SANJUKTA KAMKAR	SEMESTER PASSED	7.15
8	010052-17009	17-01005-001	2017-2018	OISHEE CHAKRABORTY	SEMESTER PASSED	7.70
9	010052-17010	17-01005-002	2017-2018	SABNAM BISWAKARMA	SEMESTER PASSED	7.65
10	010052-17011	17-01005-003	2017-2018	SUMITRA BARMAN	SEMESTER PASSED	7.70
11	010052-17012	17-01005-007	2017-2018	SREEPARNA NANDI	SEMESTER PASSED	7.25
12	010052-17013	17-01005-008	2017-2018	LABONI NARJINARY	SEMESTER PASSED	7.55
13	010052-17014	17-01005-011	2017-2018	POPY BISWAS	SEMESTER PASSED	7.50
14	010052-17015	17-01005-013	2017-2018	ANAMIKA ROY PRODHAN	SEMESTER PASSED	7.20
15	010052-17016	17-01005-014	2017-2018	POULAMI ROY	SEMESTER PASSED	7.55
16	010052-17017	17-01005-015	2017-2018	SUPTI GOSWAMI	SEMESTER PASSED	8.00
17	010052-17018	17-01005-016	2017-2018	APURBA SINGHA	SEMESTER PASSED	7.90
18	010052-17019	17-01005-017	2017-2018	SUDIPTA KUNDU	SEMESTER PASSED	7.70
19	010052-17020	17-01005-019	2017-2018	SABINA GURUNG	SUPPLEMENTARY IN 1.2.7A(TH)	
20	010052-17021	17-01005-022	2017-2018	MANASHI ROY	SEMESTER PASSED	7.30
21	010052-17023	17-01005-027	2017-2018	KM NEETU DWIVEDI	SEMESTER PASSED	7.25
THE RESERVE AND ADDRESS OF THE PERSON NAMED IN	010052-17024	17-01005-028	2017-2018	SMRITIKANA DAS	SEMESTER PASSED	7.25
THE RESERVE OF THE PARTY OF THE	010052-17025	17-01005-034	2017-2018	AMIT CHETTRI	SEMESTER PASSED	7.40

Provisional Result (College wise) Two-Year Bachelor of Education (B.Ed) 2nd Semester Examination, 2018 FALAKATA B ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	SGPA
24	010052-17026	17-01005-033	2017-2018	ANIK DAS	SEMESTER PASSED	8.10
25	010052-17027	17-01005-031	2017-2018	NARAYAN BOSE	SUPPLEMENTARY IN 1.2.7A(TH)	
26	010052-17029	17-01005-004	2017-2018	SANJAY PAUL	SEMESTER PASSED	7.35
27	010052-17030	17-01005-005	2017-2018	SURAJIT BARMAN	SEMESTER PASSED	7.40
28	010052-17031	17-01005-006	2017-2018	DHRUBAJYOTI ROY	FAILED	
29	010052-17032	17-01005-009	2017-2018	JOYKANTA BARMAN	SEMESTER PASSED	7.20
30	010052-17033	17-01005-010	2017-2018	BIPUL BARMAN	SEMESTER PASSED	7.40
31	010052-17034	17-01005-012	2017-2018	ANGSHUMAN ROY	SEMESTER PASSED	7.80
32	010052-17036	17-01005-020	2017-2018	BAPI ROY	SEMESTER PASSED	7.70
33	010052-17037	17-01005-021	2017-2018	SUBRATA ADHIKARY	SEMESTER PASSED	7.60
34	010052-17038	17-01005-023	2017-2018	BAPPI SARKAR	SEMESTER PASSED	7.95
35	010052-17039	17-01005-024	2017-2018	SANKAR BISWAS	SEMESTER PASSED	7.55
36	010052-17040	17-01005-025	2017-2018	PALASH DEY	SEMESTER PASSED	8.10

Provisional Result (College wise)

Two-Year Bachelor of Education (B.Ed) 4th Semester Examination, 2019 (Held in June-2019)

College Code - (01005) -

FALAKATA B.ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	CGPA	Signature of the Candidate
1	010052-17001	17-01005-035	2017-2018	DEBASHREE MANDAL	PASSED	8.10	
2	010052-17002	17-01005-029	2017-2018	DEVASHREE CHAKRABORTY	PASSED	8.28	
3	010052-17003	17-01005-037	2017-2018	INDRA CHETTRI LIMBOO	PASSED	7.49	
4	010052-17004	17-01005-030	2017-2018	JOYASHREE BHOWMIK	PASSED	7.65	
5	010052-17005	17-01005-032	2017-2018	MAMPI BARMAN	PASSED	7.76	
6	010052-17006	17-01005-038	2017-2018	MONICA LEPCHA	PASSED	7.58	
7	010052-17007	17-01005-036	2017-2018	SANJUKTA KAMKAR	PASSED	8.31	
8	010052-17009	17-01005-001	2017-2018	OISHEE CHAKRABORTY	PASSED	8.11	
9	010052-17010	17-01005-002	2017-2018	SABNAM BISWAKARMA	PASSED	8.20	
10	010052-17011	17-01005-003	2017-2018	SUMITRA BARMAN	PASSED	7.68	
11	010052-17012	17-01005-007	2017-2018	SREEPARNA NANDI	PASSED	8.18	
12	010052-17013	17-01005-008	2017-2018	LABONI NARJINARY	PASSED	7.98	
13	010052-17014	17-01005-011	2017-2018	POPY BISWAS	PASSED	8.04	
14	010052-17015	17-01005-013	2017-2018	ANAMIKA ROY PRODHAN	PASSED	7.81	
15	010052-17016	17-01005-014	2017-2018	POULAMI ROY	PASSED	8.18	
16	010052-17017	17-01005-015	2017-2018	SUPTI GOSWAMI	NOT APPEARED		
17	010052-17018	17-01005-016	2017-2018	APURBA SINGHA	PASSED	8.28	
18	010052-17019	17-01005-017	2017-2018	SUDIPTA KUNDU	PASSED	8.28	
19	010052-17021	17-01005-022	2017-2018	MANASHI ROY	PASSED	7.93	
20	010052-17023	17-01005-027	2017-2018	KM NEETU DWIVEDI	PASSED	7.78	
21	010052-17024	17-01005-028	2017-2018	SMRITIKANA DAS	PASSED	7.68	
22	010052-17025	17-01005-034	2017-2018	AMIT CHETTRI	PASSED	8.05	
23	010052-17026	17-01005-033	2017-2018	ANIK DAS	PASSED	8.28	

^{***} RW='Result Withheld',RA='Reported Against',INC='Incomplete'

Qualifying marks for each Course/Half (Internal/External assessment) is 40% and pass marks for each Course/Half is 50%.;

Controller of Examinations

3/09/2019

Page 2 of 2

THE WEST BENGAL UNIVERSITY OF TEACHERS' TRAINING, EDUCATION PLANNING AND ADMINISTRATION

Provisional Result (College wise)

Two-Year Bachelor of Education (B.Ed) 4th Semester Examination, 2019 (Held in June-2019)

College Code - (01005) -

FALAKATA B.ED COLLEGE

Srl-No	Roll Number	Registration No.	Session	Name of Candidate	Result	CGPA	Signature of the Candidate
24	010052-17027	17-01005-031	2017-2018	NARAYAN BOSE	PASSED	7.99	
25	010052-17029	17-01005-004	2017-2018	SANJAY PAUL	PASSED	7.94	
26	010052-17030	17-01005-005	2017-2018	SURAJIT BARMAN	PASSED	8.00	
27	010052-17031	17-01005-006	2017-2018	DHRUBAJYOTI ROY	PASSED	8.46	
28	010052-17032	17-01005-009	2017-2018	JOYKANTA BARMAN	PASSED	7.58	
29	010052-17033	17-01005-010	2017-2018	BIPUL BARMAN	PASSED	7.98	
30	010052-17034	17-01005-012	2017-2018	ANGSHUMAN ROY	PASSED	8.40	
31	010052-17036	17-01005-020	2017-2018	BAPI ROY	PASSED	8.18	
32	010052-17037	17-01005-021	2017-2018	SUBRATA ADHIKARY	PASSED	8.10	
33	010052-17038	17-01005-023	2017-2018	BAPPI SARKAR	PASSED	8.24	
34	010052-17039	17-01005-024	2017-2018	SANKAR BISWAS	PASSED	8.10	7 No.
35	010052-17040	17-01005-025	2017-2018	PALASH DEY	PASSED	8.39	

A Bhauarhauju.

Controller of Examinations

^{***} RW='Result Withheld',RA='Reported Against',INC='Incomplete'
Qualifying marks for each Course/Half (Internal/External assessment) is 40% and pass marks for each Course/Half is 50%.;